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Figure 6.15: Electric circuit with sign change

source, and (3) the right branch which is a resistor and capacitor in series. The
left branch as highlighted in (b) has a sign change. The equivalent impedances
for the right and left branches are easily determined by simply summing the
impedances attached off the respective 1-junctions. However, because of the
sign change, the equivalent impedance for the left branch relates the input volt-
age, e(s), to the negative of the current in the left loop, −i1(s),
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The other transfer function is determined from the equivalent impedance of the
right loop,

e(s)
i2(s)

= R+
1

Cs
=

RCs+1
Cs

→ i2(s)
e(s)

=
Cs

RCs+1
.

Copyright ©2012 Javier A. Kypuros, Ph.D.


	34: 
	0: 
	1: 
	2: 
	3: 
	EndLeft: 
	StepLeft: 
	PlayPauseLeft: 
	PlayPauseRight: 
	StepRight: 
	EndRight: 
	Minus: 
	Reset: 
	Plus: 

	anm34: 


